]|

AR &

1. TE4
TE4 0T - 84 R VR I [E1 A A N TE IR A AR Rk e L
T4 FEIR B EE FHTE N
2. THEHNE
1)  HEI4 RS ENEFHAT BRI
2) £ I & B HHMERr T
3) T Eiij] 395 H H A% THE1LA 1H
= 4Fn 8#E11H30H
4) TEyE

ELAma  JuN TR )R




oY ol SN
FEAENGRE
T, | SF07- SRR VLIS EE S B B R R ek E L H
TEX4y - LfE - fE5 B Az W B & HH i il A R
15 R (as B 2 1 25, 708, 400
1H AR R e I = 1 25, 708, 400
B G R E = 1 25,708, 400 | B IEWE R 1 i}
HIMUJE FEiEkasate ;
TH TR R IR 1
HIMLTE ;
PR AR 1 HH
FEHRED
M LR 2 1 25, 708, 400
T 8E 2 1 6, 685, 000
TRET = 1 6, 685, 000
IAERUET = 1 3,009, 000 | ALHIE 1 =
B B
IAERUET = 1 3,676,000 | ALHIE 1 =
BEEAL R
TG T = 1 6, 685, 000
(T RAERAT) 2 1 6, 685, 000
L EEi] = 1 1,991, 011
HBAE R RN L = 1 1, 190, 361
KRAE M RIEERE T = 1 327,127 | BB IEWME I E TR 1
1&1?? HIMIJE SRS T
AL 1
Tﬁif'ﬁﬁ;
B g L 1 =
Tﬁif'ﬁﬁ;
-1- E LA E UM T R




[ VL 5 [ S s
Vol =
FER N E
TH4 | A0TSR VT S B N IE B I A R R L
THX 4y - THE - flR B {7 ¥ = & F il pall 2! R
B A SRR EERE T 2 1 160, 081 |iH EE1E SR NI E S 1 [id]
& [E NHL1TE ;
KRS 1 S
W
B T 1 =X
%
ﬁ%;ﬁiuuﬁﬂ%(@ﬂ) 1 it
BRI RFREEE RIS T =X 1 342,931 | BB SR N E IR TR 1 i}
#H HIMIE SE3aR & de
A7 AT B 1 =)
w
HRERR 1 Pre
w
=77 v T 1 =
w
Bl g L 1 F2V
&
JE R R R IR E RS L 2 1 360,222 |ESIHFHRE REEME 1 i}
R HL2TE ;
TR 1 S
w
-7 MiE L 1 =
W A
B T 1 =X
e A
BUGHR A Tl (B 1 =X
T8 g T = 1 322, 500
fifik T = 1 322,500 |# (EX) 1 X
I = 1 478, 150
RIEET = 1 478, 150 | ZIEFHEE(HE A 5 AN H
&I

TAZIEE LN )R




AR
TH4 | AT SO I R [EE T PV B B R AR R 1
THXsy - TFE - FE5 H7 & & # i Gl N
SREFEEA B 15 AH
[
[P % 2V 1 1,991,011
Hm IR E E20 1 639, 700
e Tre: X 1 69, 700
EsZREgiis ¢ 2V 1 69, 700 | B B fERR FEAT ~FERLE 1 E2y
BB M i E PEE BT MR 1 X
sty (R L) 2V 1 570, 000
ol T 2V 1 2,630, 711
TR e gL E20 1 1, 682, 000
Hear Mty 2V 1 3, 685, 000
Boifr & bt 2V 1 166, 000
ResnE me 2V 1 3, 519, 000
(L5 5 E20 1 7,997, 711
T AT 2V 1 31,414, 528
— i PR E20 1 5, 245, 472
N E20 1 103, 700, 000
-3- [ A2 U H i R




[RE IR S EE FHTE N
== /oA = =
FEAENGRE e
T, | SF07- SRR VLIS EE S B B R R ek E L H
TEX4y - LfE - fE5 B Az % & #A i il A R
15 R (as B = 27, 554, 400
1H AR R e I = 27, 554, 400
B G R E = 27,554, 400 | B HEIEWERK 2 =
HIMLTE ;
PR AR 2 #H
'H:*%é D/\{f
FFATAIN 2 =
SM2C 100Mbps 1.31 pumiy 4" A K40km ;
M LR = 27, 554, 400
TIGHRUE = 4,033, 000
TRET = 4,033, 000
IAERUET = 3,029,000 |SrfufE 1 =
B B
IAERUET = 1,004, 000 | 3AEHLE 1 =
BEEAL R
T T2y = 4,033, 000
(T RAERAT) = 4,033, 000
L EEi] = 1, 864, 229
HBAE R RN L = 1, 249, 139
FRAG M RIEE R E = 445,494 | E B E MR RIS E IR AR 1 il
W HIMUE SEEERges & e
VAG LR (L2-SW) FHEx 1 1=
wHE 158 ;
IARVEANRYE 1 a
W 26 BLUBEMIES D

TAZIEE LN )R




Vv = =
FER N E e
TH4 | A0TSR VT S B N IE B I A R R L
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
HRERR 1 S
T’Sif'ﬁﬂ 5
Heir=7" Va1 1 X
T’Sif'ﬁﬂ 5
Bl g L 1 F2V
%
JE IR R IR E RS L X 1 220,607 | EEEIE R R E R 1 i}
&M NHLLJE ;
KRS 1 S
T’Sif'ﬁﬂ 5
Ser-7" i L 1 =
e A
B T 1 2V
T’Sif'ﬁﬂ 5
BG4 S ERR (BR) 1 X
TERE R R IR B E L 2 1 371,912 | W IEHE RSB ERR 1 i
#H HIMIE SE3aR & Te
SeAm b dEE (L2-SW) 7% 1 =
T’Sif'ﬁﬂ 5
AT TN —H R 1 &
&K 25 BLBEMES D
SRRE R 1 pon
%
Bl g L 1 F2V
T’Sif'ﬁﬂ 5
JE R R R IR E RS L = 1 177,366 |JEEEIEHRFRIEERE 1 i}
I NHL1TE ;
RRERE 1 %
T’Sif'ﬁﬂ 5
B T 1 2V
T’Sif'ﬁﬂ 5
BG4 hER (BR) 1 X
S HA N T L T S 1 16,880 | 47" (73N ~iRf A ! 7
T’Sif'ﬁﬂ 5
-5 - E A2 s SN 7




TR

=CN
=

T
P

&=

TEHEL | AT S LR U R EDE A N E R R

ffx & T4

TEHX4y « Tfd - FER B Az & #A iR
ERIGHFREERE T = 1 16,880 |} 47avn —hHERAFRAEE 1 1=
T’Sif'ﬁﬂ 5
YATAAVT) V=yay = 1 136, 940
YAFAAVF) V= = 1 136,940 |VATA-4VF) V=vay 1 =
A Y 1 478, 150
REE PR L 2y 1 478,150 |ZZIEFAEEHE A 5 AH
T’Sif'ﬁﬂ 5
RIBFHEEHE B 15 AR
T’Sif'ﬁﬂ 5
[ERAE Xy = 1 1, 864, 229
HiE 2 2 1 637, 000
B (FEHL) = 1 637, 000
T = 1 2,501, 229
Bl gy 2 1 1, 799, 000
TRk = 1 4,133, 000
Bt et = 1 483, 000
Mo A = 1 3, 650, 000
(Bl I Am) 2 1 8, 433, 229
T =5l = 1 12, 466, 229

TAZIEE LN )R




== /oA = =
FEAENGRE e
T, | SF07- SRR VLIS EE S B B R R ek E L H
TEX4y - LfE - fE5 B Az W B & HH i il A R
15 R (as B 2 1 13, 777, 200
1H AR R e I = 1 13, 777, 200
H BN E 2V 1 13,777,200 |3 15 AR 1 B
HIMLTE ;
PR AR 1 #H
AR ST
FFATAIN 1 =
SM2C 100Mbps 1.31 pumiy 4" A K40km ;
M LR 2 1 13, 777, 200
L EEi] = 1 644, 588
HBAE R RN L = 1 384, 858
BHRAIE IR T = 1 274,054 | iE B E MR RIS E IR R 1 il
W HIMUE LR & e
SeAnIELEE (L2-SW) 7% 1 =
wHE 158 ;
AT TN ~HEREE 1 =)
W 26 BLBMIESD D
TPHE RS Haas YR 1 =
W 26 BLBMIESD D
B g L 1 =
#wH
B RN EERE T = 1 93,924 |EEERFRIEEME 1 il
& NHL1TE ;
TPHE R A = 1 1=
e A
HL 3 4E E i (B0 1 =
ERIGHFREERE T Y 1 16,880 |} 47avn —hHERARAEE 1 1=
T’Sif'ﬁﬂ 5

-7- E ta2@d Ui




=+ /A = e
FEAENRE e
T, | SF07- SRR VLIS EE S B B R R ek E L H
TEHX4y « Tfd - FER B Az & #A iR
YAThAVT) V=Y = 1 68, 470
YATh AT V=Y = 1 68, 470 |YATh-4VF) V=vay 1 =
A Y 1 191, 260
ARIEE BT X 1 191,260 |#3EFHEZHE A 2 AH
T’Sif'ﬁﬂ 5
RIBFHEEHE B 6 A H
T’Sif'ﬁﬂ 5
[ERAE Xy = 1 644, 588
HiE 2 2 1 220, 000
B (FEHL) = 1 220, 000
T = 1 864, 588
Bl gy 2 1 644, 000
TRk = 1 2,757, 000
Bt et = 1 247, 000
Mo A = 1 2,510, 000
T =5l = 1 4,265, 588

TAZIEE LN )R




